
First, Start at and you will connect the dots all the way through 
(-10,7)  
(-12,5)  
(-12,-5)  
(-10,-7)  
(10,-7)  
(12,-5)  
(12,5)  
(10,7)  
 
 
Next, You will connect the dots from  
(-9,4)  
(-9,-4)  
(-7,4)  
(-7,-1.5)  
(-4.5,-4)  
(-3.5,-2.5)  
(-6,-.5)  
(-3.5,2)  
(-5,3)  
(-7,1.5)  
(-7,4)  
(-9,4) 
 
Then, You will now make another letter and star from  
(-2,2)  
(-2,4)  
(4,4)  
(4,2)  
(2,2)  
(2,-5)  
(-1,-5)  
(-3,-3)  
(-3,-2)  
(-1,-2)  
(0,-5)  
(0,2)  
(-2,2) 
 
For the last letter it is kinda complicated but you will start from  
(5,4)  
(7,4)  



(9,2)  
(9,1)  
(8,0)  
(11,-3)  
(9.5,-4)  
(7,-1.5)  
(7,-4)  
(5,-4)  
(5,4)  
Now you will stop connecting amd make a small circle inside starting from 
(6,1)  
(6,2)  
(7,3)  
(8,2)  
(8,1)  
(7,0)  
(6,1) 
 
Last you will draw vertical line from these equations. 
Y=1/1x+7  
Y=1/-1x+7  
Y=-1/1x+3  
Y=-1/1x-7  
Y=-1/-1x-7  
Y=-1/-1x+3  
Y=-1/1x+7  
Y=-1/-1x+7  
Y=1/-1x-7  
Y=1/-1x-3  
Y=1/1x-3  
Y=1/1x-7 
 
Finally erase the lines inside the box and that goes through the letters  


